z10 | abeg

(ebed jxeu uo sjuswos.by pue saimeubis YMH-/LOQ)

A=0a¥(N 00 uaLIe A | S P) PV IV a4V mN . d; .‘%
10 AlunoQ auyy 1oy [e1oIwO pazioyny : . \, /mEm\Z Juld {0 m%.
Fr /-l \M Vawall v«& J\ﬂi\iq ~C/ 7
aleq B oL 0 seubis umpueH
painbay suoN [ ] [eroiddy puswwosay joN og || leacuddy puswwossy [X

u[erouo Alunod pejebajep ay) Ag mojeq pajou se uonesijdde yuuad pies uo uonoE spuawwooal pue AJUnoo paubisiepun auy) Jo
H8uSq 8y} o} ainul jleys uonepodsuel | 4o Juswpedaq emo| sy o} Buluun uigIsy) sBUINELISpUN PUB SIUBLSACD 3y} JO |8 }BY} UoNIPUOD
uo uolepodsuel | Jo juswipedaq emol ayy Ag pejnosxe Jwiad snoge syp i paipoquia syuelb ayy ul suiol Ajunoo paubisiepun sy,

(@34IND3Y SINOILOY ALNNOD ‘AVM-40-LHOI ALNNOD S3SSOYI MHOM A3ISOd0Hd 1) NOILOV ALNNOD

7opt/ o7 2 022775 SBoRtesss,
10 Ang sy 1oy [BIOWO pazZIOYINY 3WeN julid 4o adA |
LSS 7 w0, 2 2ty
\m sleq \mq %\ ENE " < m;%. limpuen
palinbay auoN @ leaoiddy puswiwiossy 10N oq D leaosddy puswiwoossy

"J[eouyo Ajo pejebsjep syy Ag mojeq pajou se uoned|idde ywJiad pies uo UoKOE SPUSWIWODSI pue Ao paubisispun ayj Jo
HBUSG By} 0} aunul jjeys uonepodsuel | Jo Juswpedsq emo) oy} 0} Bujuuni uisIay) sBunfepspun pue SjUBUSA0D BU} JO ||B JBY} UOIIPUOD
uo uonepodsuel] jo Juswpedag emo| syl Aq pamnosxe Jwisd anoge ayy ul paipoquie suelb sy u suiof Ao paubisiepun ayj,

(@3YINDIY SINOILOV ALID ‘ALID J3LVHOdHOINI NV NIHLIM SI YH4OM A3SOdO¥d 1) NOILOV ALID

}\\k N\\v - \.b\\\\ § \v\_\AQOW\ saninn pedroruniy ejouerpuy

(8dA L 40 julid) 19UMQ JO BweN

£
H2PIap vy a3d %G rljw\s % 191[IA 909
D422y S (ainjeubis) 1o By (8dAJ 40 JuL4) Jusby jo swep

uonepodsuel | jo Juswuedsd
BMO| 8y} jo Aoijod uonepowwoode Ayn syp pue i Aq epige o) saibe pue ‘suoisiroid s puejsiopun ‘juswaeaiby siy} peas saey |

Juswaaiby pue ainjeubig juesijddy

- 3 ~ \ ’ £ J
Remypiy jo spis Y7257 au uo (uonels Aemydip) Ch+cpc PUE (#1sodsjiy) 27 D w\* 0}
(uoneys AemybiH) 0t+L97 Pue (# 1sodaji) ;V\\ v \ N« \. woly Buleq se pajeoo| Ajjeoyinads
aJow s] pasodoud 3opA “(Sul] pue| Jaylo Jo ‘aull Ajunood ‘A)0) _ V1 ‘ejoueipu] Wou (Uonosuip)
1s0m (Sapw) CT'T-CL Peieoo| Ajjessush 76 Amp ON Aemubiy uo Mpc ebuey

NOZ ‘dm 6 8T UOID8S Ul pajeso| sl 9A0ge paquIsap se 3iom pasodoid ay |

NOILVYDOT 3LIS MHOM

(*siuswauinbal ueld pajielap 4o [eRIwgns 10y A21]04 UOEPOWILIOIDY
Ann uoneniodsuel jo Juswitedsq emoj JusLIND d8g) ‘0jeusy payoepe ueld pajielsp ay) U0 UMnYS se pajedo| a9 |jeys pue

“S[18p A[0d 10} 691-69.1. “$90-69.1. “VIZ0-69.L ‘TTO-69.L "120-69.1, SBUIMEIP 90

“Mmara uerd ay1 0] [ 1d-8S68H ML [ d-§S684 SSurmesp 29g

"SPLOL AIUN0 JO $2UINSO[D 10 S[RISILIO [B20] YM UONRUIPIO0D

"s1019npuod Futfind d[iym g6 AMH 10) 1¢Z-0 1 “Kiessadau J1 sAnd usop pue sajod o SUIEISUT DIYM Z6 AN 10] Z0Z-D.1 “ued [01u0d diyyer]

(QIeE YSIV $79¢E-T-1.) pasuetie K[enudsue) - S[[RO1LIDA AIIAY [CUILOU AY 69 22

(SHE "PazIuBAleS g SSB[O "puens £ ,8/¢ [2a1s) doy anm plarys auey

1$1039NpU07)

"MOY LO U0 198 9q [1im sajod ¢

E8+PPE O L+ELT BIS AMFT WOIL MO LOQ UM T KM JO IS YINOS a1 U0 AJjeurpnirsuo] uny

TL4+ELT e AeMUBIY A1 J9A0 BUISSOI))

1L+ELT OV OF+L9T "BIS AMH WOL MOY LOA UM Z6 AN JO (1o S[[BUIPMIBUOL Und AY 69 18 UOISSIWISUR) OLI199]9 10 [QBI PRAYIIA()
4O 1SISU0D [|BYS UOlie|EeISUl BY |

*SMO||0) SB PSqLISapP Jayuny pue
SJusWydeye sy} uo pajie}sp se uoie||esul A BPOWWO029. 3} 10} Aem-jo-jybu AemyBiy )e}s sy ulyym Jajus o} pajsanbal Agaiay si [enoiddyy

d3.1VYAONWOIJY 39 OL NOILVTIV.LSNI

STI0S| VI ejoueIpuj 1S uong YOS |11 ‘95¢ Xog "0'd

3P0 dIZ | ®.is umo 1 /Au0 SS3IppY 198.4s
PPr6-196 (S16) sanimn [ediorunjg ejouerpu

X3 JaquinN suoyd aweN Auedwo)
1Xg Jaguinp auoyd awiep 1se7 3|PPIA awieN 18l

(ANVYdINOD HO IVNAINIGNI) INVIITddY.

220

sleq uonajdwop/uonelidx3 - ,18quin joeloid 104
I FBETT) L D - /77
: uno) . JaquinN AemyBiH ’ JaquinN Tiwled

ATNO ISN ININLHVH3IA "o

NOILVAOWINODJJV S3ILITILN ¥MOd AVM-40-LHDIY AVMHSIH T .
40 3SN JO4 LNINIIHOV ANV NOILVIITddY  yoneriodsuei 50 wawniedaa mzo_@w%




240 g abed
‘}senbai uodn a1iqnd sy} 0} papinoid
aq Aew ssaidos pue uonewloul ognd s paysiuiny uonewloul -uoiesldde 8y} 4o [elusp Ul JNSal [|IM UOHBWIOMI [e apiAoid 0] ainjie4 ‘-uonealdde
3} 40 [e1uap Jo eacsdde sujwisiep 0} uonepodsuel] Jo Juswiedsq ayy Aq pasn 34 [IIM WIO} SIy} UO PSYs|uINy UOHBWIOUI SY] JUSW}E}S 8INSOojIsiq

'salj|ioey

S 108104d 0} a6ueLIe 0} Buiel) Wl SIY} UIyIM 8|qisuodsal aq lleys JopjoH Juwied oyl ‘juswsalibe uspum o Juuad Aq uswpedsq

ay} Aq penoidde Ajsnoinaid se uoneao] Ayjnn e jo 1994 U} aq |Im >jiom pasodoud sy} usym Aem-jo-jybil paiinbae Ajmau 1o Bunsixs Jayye
UO “yJom saueusjulew Jo uoionsuod pasodoid Aue Jo aai0u sinoy 1ybia-A1i0} Jses) je Jep|oH Nwiad sy} anib [leys juswpedaq ayl ‘¢
"abed siy} uo umoys s| sweu asoym uosiad Joejud 9y} 0} spew &q |leys sjou ples *Aem-jo-ybu Aemybly sy} uo soueusiUlEW
aunnol wiopad 0} 10 UOKONIISUOD LS O} UOIUBIUI S} JO 810U SINoy Bio-Auoj Juswpedsq sy anib o} seaibe Jop|oH JwIad ay | Z

"iom pasodoud ayj Jo eale sy} Ul pajeao| Ajjn umouy| Jayjo Aue 10ejuod
os[e |leys J8p|oH Jwled sy} ‘Aem-jo-jybu Aemybiy syy ut spom Bujuuibag alojag ‘uoljeneaxa alojaq sinoy (8f) Wbia-Auoy sain
punoibispun Aue jo uoieao| sy} isanbal pue (6868-262-008-1) [leQ-8uQ emo| Buioejuod Joy sjqisuodsal s JepjoH Hwiad 8y °|

uonedalijoN *a

'sebewep [ejuapioul

1o [enuanbasuoo ‘[ejoads ‘1oauipul ‘ssauisng Jo syoud Jo SSO| 0} puajxa Ayljigel| Yans ||im JUSAS ou Ul pue ‘saiin pabewep Jiedal o}
asuadxe Joauip ‘s|qeuoseal sy} o} pajiwi| si ‘seakojdwa pue salouabe sy ‘sjels ey Jo Ajjigel] sy} ‘esIMIsylo 10 110} “JOBIJU0D ul JBYIBypA
"asuadxa yons jo asned sjewixold ajos 8y} s ‘seakojdws 1o sapushe Sil “elels 8y} jo sousbiifau usym Ajuo Aem-jo-jyb Aemybiy sy
40 Aouednooo pue asn sy uj JopjoH Nwisd oy} Aq paunour ssusdxs 10} 9|qel| aq |m ‘seakojdwa Jo sslousbe syl ‘emo| jo ajelg 8y ¢

“Huwed siy} yim 90UBpI029. Ul PaYesO| JOU BI. SaljIoe) ay) Ji 1O

'€'d Jaquinu uone|ndils YIm SOUBPIOIV. Ul PSIIOU USB] SBY JSP|OH HWISd Ji AemyBiy pies uo suoijesado souBUSIUIEW 1O UORONISUOD
Aue Aq psuoisesoo Apadoid sepjoH Hwiay 3y} 0} sabewep 1o} Ajjiqisuodsal ou swnsse juswedaq sy} pue emoj Jo Slels 8y 'z
“RemyBiy a1qnd ayy jo Aouednago 1o asn s JepjoH NWIad aY; yum Uo[}o3Uu09 Ul o Jo jno Buisue ‘alnjeu

Jansosieym Jo ssuadxa pue Ajjige [le pue Aue woly pue ‘spuewap Jo swiepo ‘sabewep ‘sasso] Joj ‘Ajinba up Jo me| je suns ‘uoioe

Jo sasnea |le pue Aue woy ‘seakojdwe pue saiusbe s) ‘emo| Jo 91elS au} Ssejwley aAes pue Ayuwapul [[eys Jap|oH Huad 8y ‘|
Aungert "o

"Juswdinba uopoNIsU0d Jo oiyel] o}

pasodxe usym sawy J[e je [siedde z sse|) 201 ISNY Jeam |leys Aem-jo-jybu Aemybiy ayy ui jpuuosiad |je ‘800z 't 19qWISAON JBYY 9
"Aemyb1y pres uo aiyel Jo uonoelSIp 10 0} R VETETIETT]

Wnwiiujw ssnes o} se Jsuuew . yons Ul uo paliied aq [[ys uohe|[elsul Ajjiin ples jo soueus]ulew pue uononIIsuU09 sy Ul suonesadg ‘g
"19PIOH }wiad 8y} Ag paysijdwoooe aq |leys 30m ay} 4o uoye|dwod uodn [erowal 11|y} pue

subis jo juswaoe|d [euiblo ay| “Jep|oH Nwis ay) 40 Ajnqisuodsal ay) ale Buibbe)y pue Juswaoeld ubis Buipnjou) [ouoo oel Iy b
‘sleloulo Juswiedaq Ag uoleulwexa Joj sawi |8 je aps qof ayj uo s|qejiene a4 |leys julad panoidde sy jo Adoo v ¢

‘uonewliojul [euolippe Joj gop J19jdeyd ‘emol o 8po) 993 “Jousip sbeulelp sy Wwoyj

uoissiwad Jo sjuswases Aiesseosu Aue ulejqo pue sbuissolo asay) 8]e20] 0} Ajijiqisuodsal s,419pjoH Huad 8y st )| "Buissold 1ousip
abeurelp e Jo uoyedo| yoes Jo JapjoH Huled ay; Buisiape oy Aungisuodsal ou sewnsse Juswpedsq sy “Alessadsu Ji joLlSIp abeulelp
8} Wodj jusweses ue uiejqo 0} Jsp|oH Jwiad ay} jo Ayjiqisuodsal sy st Ji ‘Aem-jo-ybu Aemybiy 8y} ul yiom Aue Bujuuibaq alojeg -z
“Ao1j04 uonepowwosoy Ay sjuswueds( Juasng

843 Ujim SouepIodde ul 8q leys uoneoljdde siyj Aq paisnoo uone|jejsul Ajjin 8y} J0 SOUBUS]UIBW PUE UOHONIISUOD ‘uonjeao| ayyl |
9JUBUIUIEJ\ PUE UOIJONIISUOY g

"Juswaalbe siy} 4o sjuswalinbal pue SUoIIPUOD 8y} JO JUNOIJE UO ‘suosiad Jo ‘uosiad Aue Aq paulejsns aq Aew jeyy sessol

Jo saBewep Aue o ssejwiey Juswpedaq ay} pue Bmo| Jo S1e]S AU} SAES 0} Sealbe 0s|e Jap|oH Jwlad 8y "pIoA pue |jnu isenbal

pue Juswasibe siy} Japual [jeys pajels awely awi} 8y} ulyim pue pajejndys se paquasap yiom ay} Bugoniisuod uj Jo suonendis sy
Aq apiqe 0} Jop|oH }wiad 8y} jo Hed ay} uo ainjieq “jsenbal pies Joj PaAIadal s! lenoldde juswipiedsq ajep ay} Woly Jeak auo uiyum
sjuswauinbal [erdads pue suopelndis sy ypm aoueydwod uj pasodoud se pajejduwios 94 [leys ywuad siy} ul paquUIsap YIom a8y
“19p|oH

Jwisd 9y} Jsulebe passasse aq ||Im uolonlisuod BulAldwos-uou Jo [eAowal Ul aje1s oy} Aq pswiopad aq 0} pasned yiom Aue Jo }sod
SYL "Hwuad 8y} Jo UOKEIOARI JO ‘PaINSSE S| SOUENAWOD [HUN JUSWSSINGUIIS] UOEd0[al 40 Buipjoyynm 1o suonesado uononlsuoo Ayjn
40 UMOP-JNys 104 8sned palspisuod aq Aew ‘Juswaaibe Jo ywiad ‘Aoljod sjuswiiedeq syl 1o SWS) 8y} Jo Aue yym agueldwos-uoN ‘¢
‘suoljelado soueUSjUlBW IO UOIONIISU0D Aemybly Aq pasnes

Aem-jo-ybu Aemybiy psysi|qeiss sy ulyim sai|ioey syl 1o sjuswsnipe ainyny Aue 1o} sjqisuodsau Ajn} aq ||eys Jep|oH lwied ay| 'z
‘3|qealidde suonenbal 1o sme| Jsyjo Aue pue juswpedsqg sy;

10 suone[nbal pue sa|nl |je ‘seainosay [einjeN Jo Juswpedad sy} ‘UoISSIWUWOY 89I9WWO0Y) S)e)S BMO| 83U} JO SOAI}oalIp pue suone|nbal
‘suone|nBai pue sajnu ssiyouel BMO| [elapa) pue ‘sje)s ‘Ajunod ‘lediolunu [B90] Jo sjuswalinbal ay j9sw lleys uonejjejsul ayy -
|eisuag "y

"Hwad siy} Jeapun ulanob |jeys abed

Sy} uo paysy| se sjuswalinbal [eroads asoy} pue suopeindis Buimojo) auj jey; (Juswpeda se o} pallajel Jayealsy) Juswpedsq emoj
3y} ynm saaibe (Jap|oH Uwiad ey} Se 0} pallajal Jayeulalay) ‘easusdl| Jo Jepjoy jiwad ‘jueolidde ‘uojjelodiod ‘Auedwos Ayn sy |

SLININIITHOV

67005 | VI uojrey) 1S W08¥ TT6IT
3p0Y dIZ | sieis umo | /A0 SSalppy 1e8l1s
9S0S-YLL-1¥9 "H'd ‘SIOWWOS 100§
Jaquinp auoyd (sweN juld Jo adA]) uosiad 1oeu0D | OQ 2907
10} apeWw-aq ||eys Aem-jo-jybl Aemybiy sy Uo SaIAlOE 99UBUSIUIBL JO UOIONASUCD LELS 0} UORUS)UI JO 390N

257077 > \»w.\) T _
R Cat , 2 SV, / uelg,0 9[ed
. N\.. e leq //fr.\ > 4 “ainjeubls anjejussaiday ouisig AemybiH pazuoyiny
910-710T-N6S -JSqunN Jwisd _ paiuaq uoneayddy [ | panoiddy uoneayddy [X]
] NOILOV VNI4 NOILV1HOdSNV¥L 40 ININL¥VdIa
aleq alnjeubls aAjejussaldsy YAHL pazuoyiny
pasnbay suoN [| [erosddy puswwodsy joNoa [ ] [enoiddy puswwoday [

(Q3™IND3Y NIHA NOILOY NOILVYLSININGY AVMHSIH Tvy¥3a34

wuad siy} o} Ajdde |leys syuswalinbal [eioads Buimoljo} sy} ‘Mojaq suole|ndis 8y} 0} Uolppe Ul - sjuswalinbay jeisadg

AINO 3SN INIWLHYAIA HOS




- : .
i PULLING IRONS OPPOSITE __ i - A ; 17" OPENING FOR. GROUND ROD l A
+ EACH DUCT ENTRANCE ) 4'—p
{ i 8" suMp 8™ suMp
! \ | / SLOPE FLOOR TO SUMPS \
i / \
| : g'_g" GROUNDING PLATE = O O by
i ! (BURNDY YGFxx OR
i i £0UIV) BONDED 10—
§ ! STRUCTURAL STEEL
i i (2 PLACES)
I |
! i 1" OPENING FOR GROUND ROD
' 1
: : ™~
l 1
i
| !
: : PLAN AT BOTTOM
1" - ~ T
MANHOLE #2 — LOCATIOM }62UG
&
MANHOLE FRAME & COVER REMOVABLE TOP SLAB KEYED TO WALLS
NEENAH R—-1754-A
OR EQUIVALENT
ar L g’: = dr;ﬂ& d%:i&
3-0"
s _~—— PULLING IRON TYPICAL]
2'-6 e ( . ) 0 —o—
o i
| _ I
~— - Figoy 127 X 48" BOX QUT . " =
12" X 48" BOX OUT x : e 127 % 48" BOX
FOR CONDUIT FOR CONDUIT ENTRANGE N 55t T68 conguit PULLING TRON
ENTRANCE ~ i o ENTRANCE
4= s
5'-6"
MIN HEADRQOM —
8'-0" 3
— — |— 3" (vPica) b
‘--0"1 - S
| O ——— PULLING TRON <
RV [ [ B [ [ | ]
\
\GROUND[NG PLATE
(BURNDY YGFxx OR SECT -c SECTION B-B
£QUIV) BONDED TO SECTION A—A - SECTION C-C
STRUCTURAL STEEL (LOOKING EAST) FABRICATION NOTES
(4 PLACES) 1. MANHCLE DESIGN SHALL BE SUITABLE FOR INSTALLATION
ALONG STATE HIGHWAYS AND WITH REQUIRFMENTS OF AASTO H-20.
2. PROVIDE PULLING EYES (CONDUX 08381301 OR EQUNALENT) AND
MANHOLE FRAMES & COVERS AS NOTEI GROUNDING PLATE
EMBEDDED IN
3. PROVIDE KNOCKOUT AREAS AS NOTED, KNOCK OUT AREAS SHALL BE CONCRETE AND
00 OF REGAR AN SHALL HAVE NO' MORE THAN A 3" THICKNESS BONDED TO REGAR
oo
% PRE-CAST SUPPLIER IS RESPONSIBLE FORt STRUCIURAL DESIGN OF
MANHO!
5. SEE SPECIFICATION PARAGRAPH 17.0 IN SECTION 167222 FOR GROUNDING PLATE DETAIL
ADDITIONAL REQUIREMENTS
EDAIOAVUNIGRAL UTEIES — [DATE 01-08-12 T [SCALE: REV
PRELIMINARY % DESIGNED  P&E INDIANOLA MUNICIPAL UTILITIES AS NOTED B
. - DRAWN DAY HIGHWAY 82 DOT PROJECT W N
NOT FOR CONSTRUCTION e A fisucanin APPROVED ~ JWE |PREFABRICATED MANHOLE CONSTRUCTION, LOCATION 02UG DWE.NO
_ REV DAIE | DESG | DFIR + Mebomrk Sardons o wm APPROVED ARP E8958'U120




J)

/TOPSOIL
L

"
ICRUSHED ROCK

BACKFILL

5'-0"
»
s gt
O}
P~ L
5'-0"
(2 Lo

VIEW A—A

NOT TO SCALE

T39-021

B6Y4V TARGENT STRUCTURE,

ITEM
1

S e N

0
"
12
13
12
15
16
17
15
19
20
21
22
25

25

or

w

RN

N -0 ==
<

MATID
15691
16192
99999
16016
10721
028

1255¢

125286
12494
1251€
10492
1079¢
10498
1041¢
@501
10168
105¢1
10761

UNIT
A
vy

EA
173
tl

FEEIQRERQE

T2 CONDUCTOR

CESCRIPTION
INSULATOR, 1I0RZ LINC POST, 6¢ KV, GAIN BASC., CLAMF TOP, 1225 LB RCL
CLAIP, TRUNNION, CLAMP TOP,268-T2 — 477-T2 AC3R

KOT USED

INSULATOR, DOWIN LEAD, FIBERGLASS, 5/8" X 12"

GRIP, DEAD—-END, PREFORMED, 1/0 ACSR, AAC, ARAC
CONDUCTOR, #1/8 ACSR, BARE

SIAPLE, GROUND WIRE, 2° % 5/8"

ROIT, DOUSLE ARIAING, 5/8" GALVANIZED, VARTOUS | FNGTHS
WASHER, SGUARE, FIAT, 5/A" GAIVAIIZED

UT, 5/8" GALYANIZED

EYE NUT, 5/8" GALVANIZED

WASHER, TWIN CGILS, 5/8"

COMIHECTOR, AL COMPRESSION, H-TA?, VARIQUS SIZES
EOLT, MACHIIE, 3/4" GALVANIZED, \ARICUS LENGTHS
VASHER, SOUARE, CURVED. CALVANIZED, 3/4"

LGZKNUT, 3/4" GALYANIZED

WASHER, TWIN COILS, 3/4"

FOD, GROUND, 5/3" X 10°, COPPCRWELD, TIIRCADCO SCCTICHAL
ROD. ARMOR. 3/8" 1IS/CHS

CLAMP, 5/8" GROUND RCD TO #& — 1/0 CU

MOLDING, GROUND WIRE. 1/2" FLASTIC

VIRE, f4 SOLID COPPER. SD, BARE

SUPPORT, SHIELD WIRE, SIDE MOUNTED, 5/8" X 12"
CLAIP, SUSPENSION, 3/8” EHS (WIIH ARMOR ROD)

DAMPER, VIBRATION, SPIRAI, 0.377-0.461"

PRELIMINARY

FOITR SISOl AVKTSTS 4 oS!

DATE 05-16-12

SCALE: REV
NONE A

DESIGNED P&t
DRAVN MRS o
NOT FOR CONSTRUCTION APPROVED Wi 69KV TANGENT STRUCTURE T2 CONDUCTOR WG o
. APPROVED  ARP T69-021




[
i L S

S

X
RV

G7-35-13
DATE

AL | v

0£SG | DFTR

i J,.,J/\@{T)
(

CRUSHED ROCK
BACKFILL

168-222
59KV, LIGHT ANGLE, GUYED,
WATID
16691
16192

1TF1 Qnr

1 3

15

SN

Nop == 3% ANN— = — —

AFR
—-——i—

2y
N

12103
12503
12403
12599
a7
14205
12004
12096
12404
12510
05941
12550
10410
10402
10<Q6
10168
1054
10767
10291
12005
12507
12405
05707
05722
16592
1090
16517
10252
19277
10767
10350
10790

T2 CTOHDUCTOR

UNIT

DESCRIPTION

INSULATCR, HORZ LINF POST, 69 KV, GATN BASF, CIaMP TGP, 1225 LB RGl
SLAMP, TRUIINION, CLAMP TOP,266 -T2 477-12 4CSR

INSULATCR, DOWN LEAD, FIBERGLASS, 5/8" ¥ 2"

CONDUCIOR, #1/0 ACSR, BARE

EYE HUL, 5/87 GALVANIZED

BOLT. DOUBLE ARMING,
WASHER, SOUARE, FLAT,
LOCKNJT, /8" GALVAKIZED

WASIICR, TwInt COILS, /3"

GNP, DOAD-END, PRCIOPMCD, 1/@ ACSR, AAC, M/
NNECTOR, L COMPRESSION, H—"2p, MYARIOLS 3IZES
BOLT. MACKINE. 3/¢7 GALVANIZED, VARIOUS LENGTFS
WASHER, SQUARE, CURVED, CALYANIZED, 374"
LCCKNJT, 34" CALVANIZED

" GALVANIZED,
" GALVANIZED

VARICLS LENGTHS

SD, 3ARE
STAFLF, GROUND WIRF, 7" = 5/8"

MOLBING, GROUND WIRF, 1/2" PIASTIC

RCD, SROUND, 5/8" X 1@', COFPERWELD, THREACED SECTIONAL

CLAMP, 5/8” GROUND RS TO 8 - 1/0 Cu

SUPPORIT, SHIELD-WIRE, SIDE MOUMIED, 5/8" x 12"

CLAMP, SUSPENSLCN, 3/8" EHS (WLIH ARMOR ROD)

DAMPER, VIBRATION, SPIRAL, ©.327-0.461"

PLATE, POLE EYE, 6"

BOLT. MACHINE, 7/B", VARIOUS LENGTHS

WASHER, SQUARE, CURVED, GALVANIZLD, 7/3"

LOCKNUT. 7/8", GALVANIZLD

WIRE, GUY, 7/16", 7 STR, CLASS A GALVANIZED, EHS STEEL

GRIP, GUY, PREFORMED, 7/16"

INSULATOR, GUY, FISERGLASS, 54", 36,020 POUID, 3/4" PINS, ONE ROLLER
THIMBLE CLEVIS, 42,600 PCUND

ROLLER, GUY. 13/16" X 2-3/8" GIA, 3/¢" PIN

ANCHOR, 8=18~12" TRIPLE HELIX

RGD. FXTENSION, 1-1/2" ¥

ROD. ANCHOR, | 1/2" ADAPTZR WITH TRIFIF Fr=
GUARD, Gl

RCD, ARMOR, 3,8 HG/ZHS

69kV LIGHT ANGLE-GUYED

3 P % £ RNGINERRING O,

DATE 05-16-12

T2 CONDUCTOR
SCALE:NONJEV_

T3 o st s ma cesron DESIGNED ~ P&E
DRAWN MRB DWG NO|
[APPROVED JWE 69V LIGHT ANGLE-GUYED T2 CONDUCTOR
DESCRIPTION APPROVED __ ARP T !




(s)
X
7
OO0 =
169-0264
—’ €8 PV COUBLE CEAGEND, MEDIUM ANGLE, BISECT GUYING, 3 DOWN GUYS
e 1TFM anr MATID UNIT X RIPTTON
P 1 6 16600 Fa INSUIATOR, SUSPFI ON, FOLTUFR, 6% Ky,
t - 73 ﬁ 19947 EA TOCAET EYZ, 8 3/8" EXTENSION LINK
. m%‘:: 3 3 1 En C_AMP, DEADEND, SEE VAR MAT LIST
SECTION A-A 4 3 16501 EA INSULATOR, HORZ _INE POST, 62 A%, GAIN BASE, GLAWF iaP, -
3 16780 £A CLAMP, TRUNIIION, CLAMP TOP VAR MAT LIST
A 14794 Ea CONMNICTOR, COMP SLEEVE, JUMPER, VARICL SIZES
7 o [[ZERT=Y CLE/IS-EYE, 7/8" OPENING, 3-3/8" C—C
5 2 12590 £ CLAMF, DEADEND, SEE VAR MAT LIS
7 g 2 10760 ca DALICR, VIBRATION, SPIRAL, STC VAR MAT LIST
I 2 14205 CA CONNICTOR, AL COMPRCSSIOH, H-TAP. VARIOUS SIZCS
e 1 1201 EA PLATE, FOLE EYE, 6"
o 12005 EA BOLT. MACHINE, 7/8", VARIOUS LENGTHS
12507 EA WASHER, SOUARE, CURVED, GALVANIZED, 72"
22 12405 A LOCKIUL, 7/8", GALVANIZED
6 12004 EA BOLI, MACHINZ, 3/4" GALVANIZED, VARIOUS LENGIHS
6 12506 EA WASHER, SOUARE. CURVED, GALVANIZED. 3/4"
. G 12404 FA LOCKHUT, 3/4" GALVANIZED
“i';ik‘f,‘ 6 17519 FA WASHER, TWIN COILS, 3/4°
200 05707  EA WIRE, GUY, 7/16", 7 STR, CLASS A GALVANIZED, EKS STEEL
1% 25722 EA GRIP, GUY, PREFORMED, 7/16
5 EA INSULATOR, GUY, FIBERGLASS, 54", 35,680 0UND, 3/4" PIIIS, OME ROLLER
[ 2 EA THIMBLE CLEVIS, 40,608 POUIID
e PR 5 EA ROLLER, GUY. 13/16" X 2-3/8" DIA, 3/4" PIn
(‘j) o AR 1 EA ANCHOR, 8-10-12" TRIPLE HELIX
z EA ROD, EXTEMSION, 1-1/2" % 5'
] ra ROD, AMCIIIR, 1=1/2° 3DAPTCR WITHH TRISLC OvC
! ca GUARD, GUY
70 = WIRE. 4 SOLID CCFPER, 50, BERE
4 59 EA STASLE, GFOUID WIRE, 2" X 5,3
i) 1 14220 EA CONNECTOR, COPPER CRIM®IT, f& SCL-£4 STR TO 48 SOL—f4 STR
SECTION 8-B & I 10402 kA ROD. GROUND, 5/8” X 12", COPP=RWELD, IHREADED SEC]IONAL
2 i 10306 EA CLAMP, 5/87 GROUNG KOD 10 §8 - 1/¢ Cu
k- 8 120 F MOLDING. GROUND WIRE, 1/2" PLASTIC
/‘TOFS()[L
|
127
[
y ~~__CRUSHED ROCK
BACKFILL
84
SPECIFY VARIABLE MATERIAL BY 69kV DOUBLE DEADEND,
L0 i :
CONDUCTOR BOLTED DEADEND:  6-T006xx MEDIUM ANGLE
CLAMP, TRUNNION CLAMP TOP: 3-T@02xx
SHIELD WIRE BOLTED DEADEND: 2-T@06xx BISECT GUYING
DAMPER VIBRATION, SPIRAL:  2-T@0dxx 3 DOWN GUYS
fpxp NEERING 0 DATE 04-18-13 SCALE: I REV
— PR SrS10d eSS 73 G DESIGNED P&t NONE A
DRAVIN MRB e
PN T TVl I T (= P APPROVED  JWE JHG MO
REV DATE DESG | OFTR | APP DESCRIPTION APPROVED ARP T69-026




_ﬁ\®

FOUNDATION AND
BACKFILL - SEE
/SPECIFICATIONS

@ 12) 2'-0
— = —

!

-

9]

m .
6'-0

g
6'-0"

S

169 -664

BAKY, LIGHT ANGLE,

ITEM

6

N o

SN - LA UG DO
[=R=]

LINE POST FRAMING, LAMINATED WOOD POLE

MATID
16601
16013
16180
16670
05023
12453
12123
12503
12403
12509
18701
14205
12004
12504
12404
12510
@5241
12556
10410
10402
10406
10167
10540
10760
10780

UMIT
EA
EA

sogpggongn

DESCRIPTION
INSULATOR, HORZ LINE POST, 69 KV, GAIN BASE, CLAMP TOP, 1225 LB RCL
SHIM, TO ADAPT GAIN BASE INSULATOR TO FLAT, XX™ BOLT SPACING
CLAMP, TRUNNION. CLAMP TOP, SEE VAR MAT LIST

INSULAIGR, DOWN LEAD, FIBERGLASS, 5/8" X 12"

CONDUCTOR, #1/6 ACSR, BARE

EYE NUI. 5/8" GALVANIZED

BOLT, DOUBLE ARMING, 5/B" CALVANIZED, VARIOUS LENGTHS
WASHER, SQUARE. FLAT, 5/8" GALVANIZED

LOCKNUT, 5/8" GALVANIZED

WASHER, TWIN COILS, 5/8"

GRIP, DEAD—END, PREFORMED, 1/@ AGSR, AAC, AMC
CONNECTOR, AL COMPRESSION, H-TAP, VARIOUS SIZES

BOLT. MACHINE, 3/4" GALVANIZED, VARIOUS LENGTHS

WASHER, SQUARE, FLAT, 3/4" GALVANIZED

LOCKNUT, 3/4" GALVANIZED

WASHER, TWIN COILS, 3/4"

WIRE, #4 SOLID COPPER, SD. BARE

STAPLE, GROUND WIRE, 2" X 5/8"

MOLDING, GROUND WIRE, 1/2" PLASTIC

ROD, GROUND, 5/8" X 1@', COPPERWELD, THREADED SECTIONAL
CLAMP, 5/8" GROUND ROD TO 8 — 1/0 CU

SUPPORT, SHIELD WIRE. SIDE MOUNTED, 5/8" X 14", FLAT BASE
CLAMP, SUSPENSION, SEE VAR MAT LIST

DAMPER, VIBRATION, SPIRAL, SEE VAR MAT LIST

ROD, ARMOR, SEE VAR MAT LIST

SPECIFY VARIABLE MATERIAL BY:
ARMOR ROD

CLAMP, TRUNION, CLAMP TOP
SUSPENSTON CLAMP

DAMPER, VIBRATION, SPIRAL

1-TOO1XX
3—-TO02XX
1 =TOD3XX
2-TOO4XX

PRELIMINARY
NOT FOR CONSTRUCTION

Gifz-13

FiE | O

DATE

rEs6 | DrIR

rep

P (v

CESCRIPTION

DATE 04-02-13 SCALE:
DESIGNED P&E AS

NOTED

REV
A

DRAWN DA
APPROVED JWE
APPROVED ARP

68V MEDIUM ANGLE, T2, LAMINATED WOOD POLE

DWG NO,

T69-064




/~TOPSOIL

=/

|
1

-

~~L crusHeED RocK
BACKFILL

=il

VIEW
NOT TO SCALE

A—A

159-021
GO<v TARCEMT STRUCTURE, T2 COHDUCTOR
ITEM ar MATID
1 3 16621
3 16192
99999
+ 1661¢
2 10791
25 ©5023
40 12550
6 17103
" 12503
z
6 12539
3 14205
6 12004
(] 12528
[ 12404
I
1
1 10426
su
i 10168
1 1051
2 10761

UNIT

]

CESCRIPTION

INSULATOR. “IORZ LINC POST. 68 KV, GAIN BASC, CLaWP 102, 1225 B RCL
CLAMP, TRUNNION, CLAMP TOR,266~T2 - 477-TZ ACSR

NOT USED

[NSULATOR. DOWN _EAD, FIBERGLASS, 5/&" % 12"

CRI®, CEAD-END, PREFORMED, 1/@ ACSR, AAC, A4AC

CONUUCIOR, f1/% ACSE, BARE

SIAPLE, GROUND WIRE, 2" X 5/8"

FOIT. DOUSIE ARMING, 5/8" GALVANIZED, VARIOUS |ENGTHS

VIASEFR, SQUARF, FLAT, 5/8" GALVAHIZED

LOCKNUT, 5/8" GALYANIZED

EYE NUT, 5/8" GAVANIZED

VINSHER, TWIN SOILS, 5/3°

CONUECTCR, AL COMPRESSICN, H-TA®, VERIOJS SIZES

EOLT, MATHIIIE, 3/4" GALVANIZED, \ARICUS LENGTHS

SHER, SQUARE, CURVED. CALVANIZED, 3/4"

7 CALYANIZED

[N ZOILS, 3,47

4D, 3 X W, COFPLRWILD, THRCADCD SLCTICHAL

L 3/87 1S Dns

CLAMP, 5/3" GROUND RC
GROUNZ WIRE
£4 50LIC CO2PER, S, £

SUFEORI, SHIELL WIKE. SIUE MCUNIEL, 5, 87 ¥
CLAIP, SUSPENSION, 5/8" EHS (WIIH ARIOR KO3)
DAMPFR, VIBRATION, SPIRAL, 0.377-7.461"

/¢ cu
LASTIC

L ENGINEERING 0. DATE 05-16-12 SCALE: REV
PRELIMINARY FOTER ST LTSS 5 G DESIGNED  PAE NONE A
NOT FOR CONSTRUCTION A e OWG MO
A | 03-13-13 | PaE | mua @ [APPROVED JWE 69KV TANGENT STRUCTURE T2 CONDUCTOR
_— REV DATE 0ESG | DFTR CRIPTION [APPROVED ARP T ind




LIGHT ANGLE, GUYED, IDUSTGP
Qv WATID NFSCRIZTION
! 3 1660° INSUIATOR, HOR7 [ INF PGST, 63 KV, GAIN PASE, CIAMP TCP, 1275 IR RO
a ; 16192 CLAMP. TRUIIMIGN, CLAMP TOP,266 T2 477 12 ACSR
3 4 16810 INSULATGR, DOWN LEAD., FIBERGLASS, 5/87 X "2
“ . o 05025 -l CONDUCICR, #1/0 ACSR, BARE
) 2 1258 A EYE HUI, 5/8" GALVANLZED
G 12183 BOLT, DOUBLE ARMING, 5/8" GALVANIZZD, VARIOUS LENGTES
5 12 12503 WASHER, SQUARE, FLAT. 5/3" GALVANIZED
. o 12493 LOCKNUT. 5/8" GALVANIZED
6-0 € 12599 WASIIER, TWIN COILS, 5/5"
2 1070+ GRIP, DOAD-CND, PRCFORMED, 1/@ ACSR, AAC, AWAC
3 14205 CONNECTOR, AL COMPRESSION, H-TAP, VARIOUS SIZES
€ 12024 BOLT, MACKINE, 3/4" GALVANIZEC, VARIOUS LENGTES
I & 12506 WASHER, SQUARE, CURVED, GALVANIZED, 3/4"
s 6 12204 LOCKNUT, 3/4" CALVANIZED
5 6 12510 WASHER, TWIIl COILS, 3/2"
Y == =2 050+ WIRE. f4 SOLID COPPIR, SD. 3ARE
(87 73 6'-0" an 19550 STAPLE, GROUND WIRF, 7"  5/8"
<P & 10210 1MOIDING, GROUND WIRF, 1/2" PLASTIC
(81 ¢) 1 10202 ROD, GROUNG. 5/B” X 10", COFPERWELD, THREACED SECTINMAL
e 1 10206 CLAMF, 5/8" GRGUND ROD TO f8 - 1/0 cu
I ! 10168 SUPPORI, SRIZLD WIRE, SIDE MOUNIED, 5787 % 127
| 105 CLAME, SUCSPENSICN, 5/8" EHG (WLIH ARMOK RODY
G z DAMPER, VIBRATION, SPIRAL, .327-0.461"
i 2 PLATE, FOLE EYE, §"
8'-0" 4 BOLT, MACKINE, 7/8", VARIOUS LEMGTHS
| 4 oA WASIICR, SQUARL, CURVCD, GALYANIZLD, 7/8"
4 A LCCKNUT, 7/8", GALVANIZCD
| 120 = WIRZ, GUY, 7/16", 7 SIR, CLASS A GALVANIZED, EHS STEEL
———— 12 B GRIP, GUY, PREFORMED, 7/16"
2-g" 4 16502 TA INSULATOR, CUY, FIBERGLASS, 54", 36,620 POUND, 3/4" PINS, ONE ROLLER
2 %01 % THIMBLE CLEVIS, <8,000 PGUND
S ' 4 16517 g ROLLER. GUY, 13/18" X 2-3/8" CIA, 372" PIN
i 10252 & ANCHOR, 8-10—12" TRIPLE RELIX
l\?:m 2 10772 Fa ROD, EXTEWSION, 1—1/2" ¢ &
A e L | 10267 A RGD. ANCHOR, 1-1/2" ADAPTFR WITH TRIPIF Fy7
(e¥a) i 10350 A GUARD, GUY
e 1 10798 5 RCD, ARMOR, 3/8" HS/:HS

/TOPSOIL
i

~—CRUSHED ROCK
BACKFILL

69kV LIGHT ANGLE—GUYED
T2 CONDUCTOR

DATE 05-16-12 SCALE: REV
DESIGNED  P&E NONE A

DRAWN MRB DWG NO
(APPROVED WE 695V LIGHT ANGLE-GUYED T2 CONDUCTOR
[APPROVED ARP T

PAE | ima
. . Rev | oaie |oesc|oAR DESCRIPTION




169-026A
69 hV COUBLE GEADEND, MEDIUM ANGLE, BISECT GUYING, 3 DOWN GUYS
TN ary WATID  UNIT NFSCRIPTION
1 5 16600 FA INSULATOR, SUSPENSION, POLYMFR, 69 KV, 35"
z " 10947 EA SOCKET EYE, & 3/8" EXTENSION LINK
5 10500 EA CLAMP, DEADEND, SEE VAR MAT LIST
SECTION A-A 4 3 1 1 EA INSULATOR, HORZ LINE POST, 69 <Y, GAIN EASE, CLAMF TOP, 1225 L8 RCL
s 5180 EA CLAMP. TRUNIION, CLAMP TOP, SEZ VAR WAT LIST
‘ 8 14194 Ea CONMZCTOR, COMP SLEEVE, JUMPER, VARICUS SIZES
7 2 106991 EA CLEVIS-EYE, 7/8" OPENING, 3~3/3" C-C
& 2 10500 EA C_AMF. DEADEMD, SEE VAR MAT LIST
e 2 10760 CA DAMPLR, VIBRATION, SPIRAL, SIC VAR MAT L[ST
10 3 14205 Ca COMNCCTOR, AL COMFRECSSION, |1-TAF, VARIGUS SIZCS
i ) 12201 £ PLATE, POLE EVE, 6"
12 22 12005 EA BOLT, MACHINZ, 7/2", YARIOUS LEMGT-S
13 22 ] A WASHER, SOJARE. CURVED, GALVAMIZEG, 7-8"
13 24 EA LOCKHUL, 7/87, GALVANIZED
15 6 EA BOLI. MACHINE, 3/4" GALVANIZED, VARIOUS LENGIHS
6 6 EA WASHER, SOUARE. CURVED, GALVANIZED, 3/4"
177 6 FA 10CKHUT, 3/4" GALVANIZFD
18 [ FA VIASHER, TWIN COILS, 3/4"
19 200 EA WIRE. GUY, 7/16", 7 STR, CLASS A GALVANIZED, EHS STEE.
20 18 EA GRIP, GUY, PREFORMED, 7/16"
2 3 EA INSULATOR, GUY, FIBERGLASS, 54", 35,080 OUND, 3/4" PLIIS, OME RCLLER
2 EA THIMBLE CLEVIS, 40,080 POUIID
Sy s EA ROLLER. GUY, 13/16" X 2-3/8" DIA, 3/4" PIN
‘3) U ALARL)] 1 =3 ANCHOR, 8-10-12" TRIPLE HELIX
2 EA ROD, EXTEMSION, 1-1/2" ¥ 3'
] 10262 Ta ROD, ANCHOR, 1-1/2" ADAPTCR WITI TRIPLE OYC
1 10350 [A GUARD, GUY
—~ 7 CIT S N RE. #4 SOLID CCFFER, 3D, BARE
& 52 12559 EA STAPLE, GROUID WIRE, 2" X 5/3"
1 14220 EA CONNZCTOR, COPPER CRIMPIT, f6 SCL-f4 STR TO f& SOL-#4 STR
SECTION B-B N \ 16402 EA ROD, GROJND, 5/8” X 16', COPP=RWELD, IHKEADED SECIIONAL
1 10408 EA CLAMP. 5/87 GROUND ROD 10 #8 - 1/¢ CU
X 25 3 1eate F MOLJING, GROUND WIRE, 1/2" PLASTIC
/ ) ~ T0PSOlL
4 V'
/
o) S
y 7 12
/ —
/ / ’
3 CRUSHED ROCK
\BACI\‘FILL
PECIFY VARIABLE MATERIAL BY: 69kV DOUBLE DEADEND'
SPECIFY VAR MATERIA i
CONDUCTOR BOLTED DEADEND: ~ 6-7006xx MEDIUM ANGLE
CLAMP, TRUNNION CLAMP TOP: 3-T0@2xx
SHIELD WIRE BOLTED DEADEND: 2-T0@6xx BISECT GUYING
DAMPER VIBRATION, SPIRAL: 2-T0%4xx 3 DOWN GUYS
| 7(§_r‘; RING o DATE 04-18-13 SCALE: REV
4 TORR ST At 40 OGSIGH DESIGNED P&E NONE A
DRAWN MRB o
E TS S R T (e e APPROVED  UiiE MG Nd
"ov | owe Jorsolorw ] aes besceio heprOVED e T69-026A




(7

)

ﬁ /;@) »/(3}@ a4l T69-0664
o T T [l 69KV, LIGHT ANGLL, LINE POST FRAMING, LAMINATED WOQD POLE
15 P T 1M oty MATID  UNIT  DESCRIPTION
S \‘_Zr—\ > ! 1 3 16601 LA INSULATOR, HORZ LINE POST, 69 KV, GAIN BASE, CLAMP TOP, 1225 LB RCL
® &)= ! 2 3 10913 EA SHIM, TO ADAPT GAIN BASE INSULATOR TO FLAT, XX BOLT SPACING
@’ @ 2’0" 3 5 16180 EA CLAMP, TRUNNION, CLAMP TOP, SEE VAR MAT LIST
4 16610 EA INSULATOR, DOWN LEAD, FIBERGLASS, 5/8" X 12"
ot 5 05023 1 CONDUCTOR, f1/0 ACSR, BARE
L ) I 6 2 12453 EA EYE NUT, 5/8" GALVANIZED
"1 Fx‘mﬂﬁ‘iﬁ}i‘ﬁ’ T 7 6 12103 A BOLT, DOUBLE ARMING, 5/8" GALVANIZED, VARIOUS LENGTHS
(B 4 8 12 12503 EA VWASHER, SQUARE, FLAT, 5/8" GALVANIZED
9 6 12403 EA LOCKNUT, 5/8" GALVANIZED
10 6 12509 EA WASHER, TWIN COILS, 5/8"
6'-0" 1 2 10701 EA CRIP, DEAD-END, PREFORMED, 1/0 ACSR, AAC, AAAC
12 3 14205 FA CONNECTOR, AL COMPRESSION, H—TAP, VARIOUS SIZES
L L 13 6 12004 EA BOLT. MACHINE. 3/4" GALVANIZED, VARIOUS LENGTHS
14 5] EA WASHER, SQUARE, FLAT, 3/4" GALVANIZED
i | - i5 3 A LOCKNUT, 3/4" GALVANIZED
I’ F“‘mﬁitkﬁ@ % T 6 5 Th WASHER, TWIN COILS, 3/4"
Tk i o 17 50 F WIRE, f4 SOLID COPPER, SD, BARE
f i & 0 13 40 EA STAPLE. GROUND WIRE, 2" X 5/8"
b (309 19 8 PR MOLDING, GROUND WIRE, 1/2° PLASTIC
6'-0" e (ﬁ) 20 : 19402 EA ROD, GROUND, 5/8" X 10", COPPERWELD, THREADED SECTIONAL
I \J'\ / 21 1 10406 EA CLAMP, 5/8™ GROUND ROD T0 #8 — 1/0 CU
{ @ | S A 22 ' 10167 EA SUPPORI, SHIELD WIRE, SIDE MOUNTED, 5/8" X 14", FLAT BASE
/ 23 i 16540 LA CLAMP, SUSPENSION, SEE VAR MAT LiST
1 / - 24 2 10760 £A DAMPER, VIBRATION, SFIRAL, SEE VAR MAT LIST
f:ﬁ‘ﬁ»\‘l‘lﬂd’ Lfd r 25 ) 10780 EA ROD, ARMOR, SEE VAR MAT LIST
)] 60"
|
1
W
)
FOUNDATION AND
BACKFILL ~ SEE
SPECIFICATIONS
SPECIFY VARIABLE MATERIAL BY:
ARMOR ROD 1-TOO1XX
CLAMP, TRUNION, CLAMP TOP 3=TOD2XX
SUSPENSION CLAMP 1-TOO3XX
DAMPER, VIBRATION, SPIRAL 2-TQO4XX
m ] I DATE 04-02-13 SCALE: REV
p—— s DESIGNED  P&E AS_NOTED I A
NOT FOR CONSTRUCTION E—— i o¥G Ko
C B 2 2 B » APPROVED  WWE 69KV IMEDIUNM ANGLE, T2, LAMINATED WOOD POLE
REV DATE NESG | DFTR | ARp CESCRIPTION APPROVED ARP T69-064




SECTION A-A

i es
I

—l-s- S
T.

SECTION B-B

SPECIFY VARIABLE MATERIAL BY:

VIBRATION DAMPER: 2—-TQQ4xx

SHIELD WIRE DEADEND CLAMP: 2—-TQ06xx
CONDUCTOR DEADEND CLAMP: 6-TQ®6xx

FOUNDATION AND
BACKFILL - SEE
SPECIFICATIONS

\
WW

69kV DEADEND

9O

CORNER

TENSION CHANGE
LAMINATED WOOD POLE

SCALE N.T.S.
DATE 12=12-11
DESIGNED P&E
DRAWN DAW
APPROVED JWE
APPROVED ARP

£pP & E ENGINEERING CO.

N POWER SYSTEM ANALYSIS AND DESIGN

SECTION

T

DRAWING NO.

169-169




PLE ANSE D 10-14-1

;\\—ﬁ,
SBIE BB FROM ©L 4’ DIAMETER HOLE ———
TO BE DUG TO
ON HWY 92 L) 2
@267+47 £ LACE POLE

e e S SNy S MU

L o T S S

[ 7O BE DUG|TO

273+46
|eo’

TRIPLE ANCHOR TO
BE PLACED 85’ FROM
CL ON HWY 92
@273+71

N R ———
POLE 85" FROM CL | | p|ARE ‘
ON Hwy 927 © ! EQLE 5 . 4' DIAMETER HOLE
. 1 POLE 85' FROM CL SR
@270+20 | ;
" J ON. Hwy 52 PLACE POLE
i } @273+21
| |
/‘/ \
/N [
VA

TRIPLE ANCHOR TO
BE PLACED 82" FROM

4" DIAMETER HOLE

CL ON HWY 92 POLE 82 JRoM Sb——] 70 BE DUG T0
@272+70 7—PLACE POLE
R e @273+21 f ——
. -
e H

- = e
i I R e e e e A
s T B 273+30 TN e e
p——— 273+00 [92'PropR/W
|90’
|198'PropR/W
I \ 1
‘n
| \ | FOR
i \ UTILITIES
f I\‘\_.
( I\
| | (.
. . \ [ i I
; =
! x !
I l |
|
(5 == PRS- T (%>___ O
e e e e
@ 25" 50
E P & E ENGINEERING CO. DATE 01-08-12 SCALE: REV
PREL' M I NARY % POWER SYSTEM ANALYSIS AND DESIGN DES[GNED P&E |ND1ANOLA MUNICIPAL UTILITIES AS NOTED C
C | 05-02-14 | P&E | RWB | ARP |CORRECTED 10 LATEST PLAN ' . RAWN RMB HIGHWAY 92 DOT PROJECT
B | 08-05-13 | P&E | RMB | ARP |ADDED OVERHEAD LINETYPE 2ihs o0 ear b om0 D DWG NO
NOT FOR CONSTRUCTION A | 07-16-13 | PXE | RMB | ARP |ORGINAL ISSUE Zﬁ;;‘:.ﬁ%w nfgnugfﬂ'mmfnf;:; APPROVED JWE HWY 92 PERMIT DRAWINGS E8958 P1
— REV DATE | DESG | DFTR | APP DESCRIPTION APPROVED ARP =




o 276+47 280+19
& 275+70 p
EEH
o)
~
I t
L
-
281+00 :
105’
A PN A
A
| | HWY 92
: B A
VA
POLE 89" FROM CL h\
ON Hwy 92 ,
- ©276+20 POLE 920NF§3[“¢ = 4’ DIAMETER HOLE
e e s e e~ Ry TO BE DUG TO
sy L 4’ DIAMETER HOLE POLE 98" FROM CL =
|11@ TO BE DUG TO ON HWY 92 =
PLACE POLE @281+60 §
E %
\ il
\ HE
9 Sl=
\
e e T ™ ™
Q 25 50
E P & E ENGINEERING CO. DATE 01-08-12 SCALE: REV
PRELIMINARY %g FOER SYSTE AGLTSIS A0 DESIGN OESIONED  P&E INDIANOLA MUNICIPAL UTILITIES AS NOTED c
C | 05-G2-14 | P&E | RWB | ARP |CORRECIED T0 LATEST PLAN
B | 08-05-13 | P&E | RMB | ARP |ADDED OVERHEAD LINETYPE s Ofceinisonsann DRAWN RMB HIGHWAY 92 DOT PROJECT
NOT FOR CONSTRUCTION A_| 07-16-13 | P&E | RMB | ARP |ORGINAL ISSUE G, A 50047 o Batos APPROVED JWE HWY 92 PERMIT DRAWINGS e 2
— REV | DATE | DESG | DFIR | APP DESCRIPTION APPROVED ARP E8958"P2




PLE ANST_ D 10-14-10

416+69PropR/W
|49
HWY 92

417+38 +98
27" 127

A\ A
f}lﬁ

POLE 54’ FROM CL i
ON HWY 92 /

440+4% POLE 55" FROM CL

27’ ON HWY 92 POLE 50' FROM CL
ezBar7o @287+27 ON_HWY 92
@289+92 N\
= L
— TN =il = =
J— ——
e -

4’ DIAMETER HOLE
TO BE DUG TO

S PLACE POLE 2897

E B

&

0

S 288+96

g - |75’

Sla

©

o
S
S
+
o™
O
o~ =
— [ie)

©
S EER S S S
25° L7
P & E ENGINEERING CO. DATE 01-08-12 SCALE: REV
PRELIMINARY e O e FRE INDIANOLA MUNICIPAL UTILITIES o |6
C 05-02-14 P&E RWB ARP |CORRECTED TO LATEST PLAN 245856 Offce:515:086:5083 DRAWN RMB HIGHWAY 92 DOT PROJECT
B | 08-05-13 | P&E | RMB | ARP |ADDED OVERHEAD LINETYPE 2 +515.939- DWG NO
NOT FOR CONSTRUCTION A | 07-16-15 | P&E | RMB | ARP [ORGINAL ISSUE Caric 50047 ey APPROVED  JWE HWY 92 PERMIT DRAWINGS 8 P3
S REV | Dpate  |pEsG | oFTR| PP DESCRIPTION APPROVED  ARP E895 =




297405

PLE ANST_D 10-14-10

N

TR

’ ; | HWY 92 | |
o /
"
POLE 98' FROM CL : POLE 93" FROM CL :
ON HWY 92 L ON 1Y 62 . POLE 91" FROM CL
@z92+18 @294+93 = i ON HWY 92— =
o S — o @297+37
e — N5
| s A ,
‘ .0 /
e i . oy = = S P [ S SRR S
&
0@’ | \ \\/ J
: 29708 | /| | [T :
ANCHOR TO BE e | e /
PLACED 123" FROM I £ X [ . ‘/" =
CL ON HwY 92 | iz Al T
©292+18 - 1 I
291+60 l 1
o’ I [
i | J
(l} S S
N S S
Q 25" 50"
? P & E ENGINEERING CO. DATE 01-08-12 SCALE: REV
PRE Ll M l NARY %é POWER SYSTEM ANALYSIS AND DESIGN DESIGNED P&E INDIANOLA MUNICIPAL UTILlTIEs AS NOTED C
C_| 05-02-14 | P&t | RWB | ARP |CORRECTED T0 LATEST PLAN e s DRAWN RMB HIGHWAY 92 DOT PROJECT
B | 06-05-13 | P&E_| RMB | ARP _|ADDED OVERHEAD LINETYPE ordae s DWG NO
NOT FOR CONSTRUCTION T o7-temis [ Par | s | Arp JoRONAL SSUE Carine, 1A 50047 e ol ARPROVED e HVWY 92 PERNMIT DRAWINGS E8958 P4
[ REV DATE | DESG | DFTR | APP DESCRIPTION APPROVED ARP &




PLE ANSI_D 10-14-10

HWY ¢

ANCHOR TO BE
PLACED 75" FROM
CL ON HWy 92

Q@304+19

POLE 9@" FROM CL ; .
ON HWY 92 POLE 85" FROM CL - - —————__  POLE 90’ FROM CL
@299+34 e ON HWY 92 — ON HWY 92

@301+75

@304+19

304+17

EASEMENT FOR

302+96 -
90
93 PropR /i ! UTILITIES
304+17
198 305+20
|90
305+80
[1e0’
100’
T ™ ™ ™
Q 25" 50
E P & E ENGINEERING CO. DATE 01-08-12 SCALE: REV
PRELIMINARY FaneR v AGISTS A BESTGH DESIGNED  P&E INDIANOLA MUNICIPAL UTILITIES AS NOTED C
C | G5-02-14 | P&t | RwB | ARP |CORRECTED TO LATEST PLAN . DRAWN RMB HIGHWAY 92 DOT PROJECT
B | 08-05-13 | P&E | RMB | ARP |ADDED OVERHEAD LINETYPE il s g sed
NOT FOR CONSTRUCTION A_| 07-16-13 | PXE | RMB | ARP |ORGINAL ISSUE : Zfii.::zsnom m APPROVED JWE HWY 92 PERMIT DRAWINGS oG NY
_— REV DATE DESG | DFTR | APP DESCRIPTION APPROVED ARP E8958'P5




D 10-14-10

PLE ANST

POLE 107" FROM CL

ON HWY 92~
@309+75 \\t

310+30

ANCHOR TO BE
PLACED 132" FROM |
CL ON HWY 92

[EES

310+29

308+85
110’
e L e S S U 312+70Q
B3
SR /77/,//"7717///‘ - v - T
VY 92 |
HwWYy 92
A
. EASEMENT FOR LAMINATED WOOD ?o DIAMETER HOLE
i UTILITIES POLE 80" FROM CL PLACE POLE
POLE 97’ FROM CL ON HWY 92
ON HWY 92 @3124+36 ) .
@306+88 D <1

311+71PropR/W

310+99PropR/W

£ | :
< @309+76 | ; |
g i
S . i
2 f 4
T \ |-
2 \ | A
QI8 \ | ’ S
3 v f 5
R | &
Sl \ - 2
o= \ | 7d l [ 2.
Vo ,’ Q1=
v |
\ I\“ \ II I
i
\ | i l
. !
|| a——
o I
(I / |
|| L
i
' o
&l Lo
\\ \\_ | f
. | |
Q 25’ 52'l
b |
|| |
P & E ENGINEERING CO. DATE 01-08-12 SCALE: REV
PRELIMINARY ‘gg POWER SYSTEM ANALYSIS AND DESIGN DESIGNED P&E INDIANOLA MUNIC|PAL UTIUTIES AS NOTED C
C | 05-02-14 | P&E | RWB | ARP [CORRECTED TO LATEST PLAN s T — DRAWN RMB HIGHWAY 92 DOT PROJECT
B | 08-05-13 | P&E | RMB | ARP |ADDED OVERHEAD LINETYPE - 515080 DWG NO
NOT FOR CONSTRUCTION A | @7-16-13 P;ZE RMB | ARP |ORGINAL ISSUE 'Sﬁkiq,lzzs')oan m APPROVED JWE HWY 92 PERMIT DRAWINGS E8958 P6
gz REV DATE | DESG | DFTR | APP DESCRIPTION APPROVED ARP -




PLE ANSI_D 10-14-10

N
POLE 91" FROM
ON HWY 92
@315+20~

LAMINATED WOOD

. POLE 103’ FROM CL
POLE 80’ FROM CL 4' DIAMETER HOLE Sl N b
ON HWY 92 TO BE DUG TO — ©@320+74
@318+00 PLACE POLE ///,/
— < - ,«"“ ) e e e e e R e e e AT 5 e s e e e o S e s e ot B e, 4 ‘ e L e s e T —— e s, 7 o A S e . T e e ik e it mme—t T S e SR SRS T S
120"
316425
1125
e
Q 25" 50
P & E ENGINEERING CO. DATE  01-08-12 SCALE: REV
PRELIMINARY %g PORER STSTEN ATALYSIS AT DESTON DESIGNED  P&E INDIANOLA MUNICIPAL UTILITIES Ae NOTED C
C 05-02-14 P&E RWB ARP |CORRECTED TO LATEST PLAN 34555 Obtel51ECH0RS DRAWN RMB HIGHWAY 92 DOT PROJECT DWG NO
NOT FOR CONSTRUCTION | | £ -5t [ | oo | i oo oo iemve ey APPROVED  JWE HIY 92 PERMIT DRAVINGS E8958-P7
[ REV | DATE | DESG|DFIR | APP DESCRIPTION APPROVED ARP




PLE ANSI_D 10-14-10

wn
(S
M
A ; - N o
— — S / N —— ——————— —_—
A~ S ~
\\"\\ s e e y
s = —
HWY 92 | |
- A
NN N
I LAMINATED WOOD A" DIAVETER HOLE
. ez ; POLE 95’ FROM CL
o - POLE 100" FROM CL ON HWY 92 TO BE DUG TO
ON HWY 92 @326+18 PLACE POLE
@323+56
" e ‘ - T POLE 120’ FROM CL
e b g oS ON HWY 92
e e e e ST A e s e A Pt N R v s 22 =l BT T R R s @329+03
325456 326+83 / B
1@ 110
ANCHOR TO BE
PLACED 145" FROM
CL ON HWY 92
@329+03
—_——
Q 25" 50
$ P & E ENGINEERING CO. DATE 01-08-12 SCALE: REV
PRELIMINARY %é FOTER SYSTEN AALYSIS A1 DESIGN DESIGNED  P&E INDIANOLA MUNICIPAL UTILITIES AS NOTED C
C | 05-02-14 | P&E | RWB | ARP |CORRECTED TO LATEST PLAN
NOT FOR CONSTRUCTION B | 05-05-13 | P4E | RMB | ARP |ADDED OVERHEAD LINETYPE i Ofizer 515500 9083 DRAWN RMB HIGHWAY 92 DOT PROJECT DWG NO
A [ 07-16-13 | P&E | RMB | ARP |ORGINAL ISSUE Carfc, 1A 50047 pesnai@oeanar com APPROVED JWE HWY 92 PERMIT DRAWINGS E8958 P8
o REV DATE DESG | DFTR | APP DESCRIPTION APPROVED ARP =




PLE ANST_D 10-14-10

S)
8
M
— e o
SRS e = I~
~——_ P - 12
e e I - e ——— e I ‘/,/—/‘
- = - . S
i
A
LAMINATED WOOD X
POLE 92" FROM CL 4’ DIAMETER HOLE
TO BE DUG TO
POLE 112" FROM CL PLACE POLE
E e ON HWY 92 - I R -
T _@331+78
S ~— I remr———— R L
e e T - \\\ _— Y Bt o s - eSS
/’//,,//' . _‘___.___.___.___.___.__._.A___.___.._____,._..__.___
RS
334470
| T = et e B e TN e
!329+12 EASEMENT FOR UTILITIES ———— = — 31332®‘f
[148° |
ANCHOR TO BE
PLACED 127" FROM
CL ON Hwy 92
@331+78
—
) 25" 50
5 P & E ENGINEERING CO. DATE 01-08-12 SCALE: REV
PRELIMINARY vl el T e INDIANOLA MUNICIPAL UTILITIES & N c
C_[05-02-14 | P&E | RWB | ARP |CORRECTED TO LATEST PLAN Ssa g Sonisi RS0 DRAWN RMB HIGHWAY 92 DOT PROJECT
B | 08-05-13 | P&E | RMB | ARP |ADDED OVERHEAD LINETYPE A ke DWG NO
NOT FOR CONSTRUCTION A_| 07-16-13 | P&E | RMB | ARP |ORGINAL ISSUE Carise 80047 s APPROVED JWE HWY 92 PERMIT DRAWINGS
o REV DATE DESG | DFTR | APP DESCRIPTION APPROVED ARP E8958'P9




PLE ANST_D 10-14-10

POLE 89" FROM CL POLE 86" FROM CL

340

Mg

POLE 123 FROM CL __..—7"
ON HWY 92 @342+00 \~

342+83
(132 PropR/¥

ANCHOR TO
PLACED 96" FR(
CL ON Hwy

@345+

POLE 141" F
p ON
f @

TEMPORARY POLE 134’

FROM CL ON_HWY 92
@;44+45\

o\

ON HWY 92 ON_HwY 92
_/74@337“@ ©339+50 l\

S #’ 2 -
339+59
100’
4 == . "
. |
ANCHOR TO BE
~. PLACED 155 FROM 3
CL ON HWY 92 - 3:'52;%
@309+76 PPASEMENT FOR UTILITIES
341487
P & E ENGINEERING CO. DATE  01-08—12 SCALE: REV
PRE LI M I NARY g FOWER SYSTEM ANALYSIS AND DESIGN DESIGNED P&E INDIANOLA MUNICIPAL UTIL'TIES AS NOTED C
€ 05-02-14 P&E RWB ARP |CORRECTED TO LATEST PLAN
B | 08-05-13 | P& | RMB | ARP |ADDED OVERHEAD LINETYPE 2 OffeeB10988 908 PR M HIGHWAY 92 DOT PROJECT DWG NO
NOT FOR CONSTRUCTION A | Q7—16-15 | P& | RNB | ARP [ORGINAL ISSUE Cotia, hsb047 Ui APPROVED  JWE HWY 92 PERMIT DRAWINGS
—— REV DATE DESG | DFTR | APP DESCRIPTION APPROVED ARP E8958‘P10




PLE ANSI_D 10-14-10

ANCHOR TO BE s
PLACED 96' FROM "

CL ON HWY 92 \ s
@345+00 e

POLE 141’ FROM CL
r ON HWY 92
a @344+85

OVERHEAD WIRES
TO EXIT ROW
@345+38

i
TEMPORARY POLE 134’

FROM CL ON HWY 92 A
@344+45
EASEMENT FOR UTILITIES
—_——
Q 25" 50
P & E ENGINEERING CO. DATE 01-08-12 SCALE: REV
PRELIMINARY g FONER SYSTEN ARALYSIS D GESIGN DESIGNED  P&E INDIANOLA MUNICIPAL UTILITIES AS NOTED C
C [ 05-02-14 | P&E | RWB | ARP |CORRECIED TO LATEST PLAN SR e —_— DRAWN RMB HIGHWAY 92 DOT PROJECT
B [ 08-05-13 | P&E | RMB | ARP |ADDED OVERHEAD LINETYPE - - 515.030- DWG NO
NOT FOR CONSTRUCTION A | G7-16-13 | P&E | RMB | ARP |ORGINAL ISSUE gﬁi::,lzzsooun m APPROVED JWE HWY 92 PERMIT DRAWINGS E8958 P1 1
[I— REV | DATE |DESG | DFTR | APP DESCRIPTION APPROVED ARP -




G20-2A
48" x 24"

1

it

Shoulder Line —/7_

W20-1

LEGEND
|- Traffic Sign
® 42" Channelizer

E:J Work Area

<@== Direction of Traffic

SPEED ®
LIMIT A B ¢ 1
(mph)

35 orless 500' 250' 40' 100
40-45 700' 350" 8o ()| 200

50 or greater 1000' 500' 100 (1) | 200

When a pavement edge drop-off exists, install a SHOULDER DROP-OFF
sign.

48" x 48"
: i
-
=
e [ (] ] [ ) @
° F
S V. SN ———
Spacing=C
T — 2 =t
5 devices <————— lengthof Work Area ~ — 8 » | G20-2A
48" x 24"

Possible Contract Item:

No pavement edge drop-offs greater than pavement depth will be allowed
during non-working hours.

Traffic Control

Shoulder edge drop-offs shall be mitigated according to Article 1107.08.L.2
of the Standard Specifications.

———
REVISION

7 | 10-15-13

Osj‘lowa Department
“a»’ of Transportation

@ When the length of a pavement edge drop-off is 1000 feet or less, the
temporary fillet requirement of Article 1107.08 of the Standard

STANDARD ROAD PLAN

TC-202

SHEET 1 of 1

Specifications does not apply. Reduce channelizer spacing to 40 feet.

REVISIONS: Modified circle note 1.

@ For work areas less than 200 feet long, use channelizers spaced at 20
foot centers or use a vehicle with an amber revolving light or amber
strobe light.

) Q 5
Sf—ble O &) ,'wiq#tH

APPROVED BY DESIGN METHODS ENGITQEER
—

SHOULDER CLOSURE
(ONE LANE)




t

|

[ N |

’ 150
I

A
W20-7A
48" x 48"
LEGEND
}' Traffic Sign
N SPEED ©)
[—, ’ Work Area LIMIT A B
(mph) (minimum)
: Flagger 35 or less 250' 250"
' 40-45 350" 350'
<= Direction of Traffic 50 or greater 500" 500

@ W20-7A W20-1
48" x 48" "y 48" 48" x 48"
150" e B i 48:[( 48 ‘>|<
¥ -
—p
Possible Contract Item:
Traffic Control
Flaggers
; i . —_ REVSION |
This layout is intended for a preplanned closure of 20 minutes or less. (%; lowa Department 2 o712

The Engineer will determine the storage length, B, necessary to
accommodate stopped traffic during the closure.

“a»’ of Transportation

STANDARD ROAD PLAN]|_1 -2V

SHEET 10f 1

REVISIONS: No significant changes. Changed to color.

j)éd/m.«&

APPROVED BY DESIGN METHODS ENGINEER

TEMPORARY ROAD CLOSURE




